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program ex39
implicit none
character*20 str
integeri
print*,'input the string:'
read*,str
doi=1,len_trim(str)

if(str(i:i)>="a".and.str(i:i)<="2") str(i:i)=char(ichar(str(i:i))-32)

end do
print*'the inverted string:’
print*,str

end

LR A H AL R

program ex104
implicit none
external f
character*10 str

integer f

print*, "y A\ BT 20 BT 74 ER
read*,str

print*, FAY J5 1R EL

print* f(str)

end

function f(str)
implicit none
character*(*) str
integer fk,i
f=0
k=len_trim(str)
doi=1,k
f=f+(ichar(str(i:i))-ichar('0"))*10**(k-i)
end do
end function
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program ex110
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program ex110
implicit none
integer a
character*8::b=""
print*,"#iy A\ —>1- 3k i) B
read*,a
do while(a>0)
if (mod(a,2)==1) then
b='1'//b
else
b='0'//b
end if
a=a/2
end do
print*," X W ) 3k i FCh
print*,b
end

Ui I A R ORAE) By 2
program ex111
implicit none
character*8 a
integer::b=0,k,i
print*, S —> k%
read*,a
k=len_trim(a)
doi=1,k
b=b+(ichar(a(i:i))-ichar('0'))*2**(k-i)
end do
print*, i W -+ 1 1)
print*,b
end

G RE NG B LA R R AN
program ex51

implicit none

character*20 str

integer::i,n1=0,n2=0,n3=0,n4=0

print*, $ N 75 5

read*,str

doi=1,len_trim(str)

select case(str(i:i))
case('a":'z")
nl=nl+1



case('A":'Z")
n2=n2+1
case('0":'9")
n3=n3+1
case default
n4=n4+1
end select
end do
print*, K5 BN n1
print*, /NG F-REA 7 n2
print* #7417 n3
print*, HAR #5441, n4
End

14 W ] 4
program ex24
implicit none
integer year
print*,'input a year:'
read*,year
if (mod(year,4)==0.and.mod(year,100)/=0.or.mod(year,400)==0) then
print*,'this is a leap year"
else
print*,'this is not a leap year'
end if
end

1 1
sk e=1+14+—+...+—
2! n!

program ex05
implicit none
integer::i=1
real::t=1,sum=0
do while(abs(t)>=1e-6)
sum=sum-+t
t=t/i
i=i+1
end do
print*,'e=',sum
end
519
program ex06
implicit none
integer::i=1



real::t=1,sum=0
do
sum=sum-+t
t=t/i
i=i+1
if(abs(t)<1e-6) exit
end do
print*,'e=',sum
end

13K Ffr 3fen!
program ex98
implicit none
integer n,i
integer(8) fact
print*,'input n:'
read*,n
if (n<0) then
print*,'error!'
else
fact=1
doi=1,n
fact=fact*i
end do
print 100,n,fact
end if
100 format(1X,13,'!=',110)
End

3dfs Y43 K B ofe
program ex70
implicit none
external fact
integer n
integer(8) fact
print*,'input n:'
read*,n
if (n<0) then
print*,'error!'
else
print 100,n,fact(n)
end if
100 format(1X,13,'!=",110)
end



recursive function fact(n)

implicit none

integer n

integer(8) fact

if (n==0.0or.n==1) then
fact=1

else
fact=fact(n-1)*n

end if

end function

RYB_ KD S n

program ex42
implicit none
integer(8)::f=1,sum=0
integer i,n
print*,'input n:'
read*,n
doi=1,n
f=f*i
sum=sum-+f
end do
print*'the result:’,sum
End

BRI AT CGREURED
program ex69
implicit none
external sum
integer n1,n2
integer(8) sum
print*,'input n1,n2:'
read*,n1,n2
print*,'the result:',sum(nl,n2)
end
function sum(a,b)
implicit none
external fact
integer a,b
integer(8) sum,fact
sum=fact(a)+fact(b)
end function
function fact(n)



implicit none
integeri
integer(8) fact
fact=1
doi=1,n

fact=fact*i
end do

end function

13K 5] JE 2= AR, Toq 11 o —qyp-1 1
DRI T, AR Z=1-s+c++ D" 5

program ex57
implicit none
integer::i=1,sign=1
real::t=1,pi=0
do while(abs(t)>=1e-6)
pi=pi+t
sign=(-1)*sign
t=1.0*sign/(2*i+1)
i=i+1
end do
pi=pi*4
print*,'pi=',pi
end

141 W 2K
program ex07
implicit none
integer m,i,k
print*,'input a number:'
read*,m
k=sqrt(real(m))
doi=2,k
if(mod(m,i)==0) exit
end do
if(i>k) then
print*,'this is a prime number!’
else
print*,'this is not a prime number!’
end if
End
B
program ex99
implicit none



integer n,i,k
logical::prime=.true.
print*,'input a number:'
read*,n

k=sqgrt(real(n))

i=2
do while(i<=k)
if (mod(n,i)==0) then
prime=.false.
exit
end if
i=i+1
end do

if (prime) then
print*,'this is a prime number!'
else
print*,'this is not a prime number!'
end if
end

It 101 ) 200 Z A FTA =5
program ex08
implicit none
integer::m,k,i,n=0
do m=101,200,2
k=sqrt(real(m))
doi=2,k
if(mod(m,i)==0) exit
end do
if(i>k) then
print 100,m
n=n+1
if(mod(n,5)==0) print* 15#it 5 M EAT
end if
end do
100 format(1X,I5\)
End

Iy i 50-100 IR BOTRM (H TR EID
program ex71

implicit none

external prime

integer::m,sum=0,n=0

logical prime



do m=51,100,2
if (prime(m)) then

sum=sum+m

print 100,m

n=n+1

if (mod(n,5)==0) print* Mg 5 MEERAT
end if

end do
print*,'sum="',sum
100 format(1X,13\)
end
function prime(n)
implicit none
integer ik,n
logical prime
k=sqrt(real(n))
doi=2,k
if (mod(n,i)==0) exit
end do
if (i>k) then
prime=.true.
else
prime=.false.
end if
end function

R HEH num TETA REL NN HEPIE A work
program ex109
implicit none
external prime,sort
integer,parameter::n=17
integer::num(n),work(n),k=0,i
logical prime
data num/6,19,17,91,2,15,51,11,13,3,25,6,21,14,67,73,72/
print*,'the original array:'
print*,(num(i),i=1,n)
doi=1,n
if (prime(num(i))) then
k=k+1
work(k)=num(i)
end if
end do
call sort(work,k)

print*,'the final array:'



print*,(work(i),i=1,k)
end

function prime(n)
implicit none
integer i,k,n
logical prime
k=sqgrt(real(n))
doi=2,k
if (mod(n,i)==0) exit
end do
if (i>k) then
prime=.true.
else
prime=.false.
end if
end function

subroutine sort(a,n)
implicit none
integer i,j,k,n,a(n),t
doi=1,n-1
k=i
do j=i+1,n
if (a(j)>a(k)) k=j
end do
if (k/=i) then
t=a(k)
a(k)=a(i)
a(i)=t
end if
end do
end subroutine

L3R 2~999 H [R] IR 2 T F1 AT H
(a) IZESALE T A7 H
(b) ZEE AL
program ex13
implicit none
integer::m,m1,m2,m3,k,i,n=0
do m=2,999
k=sqrt(real(m))
doi=2,k
if(mod(m,i)==0) exit



end do

ml=mod(m,10)

m2=mod(m/10,10)

m3=mod(m/100,10) 15%: m3=m/100
if (i>k.and.mod((m1+m2+m3),2)/=0) then

print 100,m
n=n+1
if(mod(n,5)==0) print* & 5 NIRRT
end if
end do
100 format(1X,13\)

End

196 UE AR RS A (AR AR 7870 K BB T s A s B A
program ex02

implicit none

external prime

integer m,m1,k1,k2,i,j

logical prime
do m=4,20,2
do m1=2,m-2
if (orime(m1).and.prime(m-m1)) print 100,m,m1,m-m1
end do
end do
100 format(1X,13,'=',12,'+',12)

end
function prime(n)
implicit none
integer ik,n
logical prime
k=sqrt(real(n))
doi=2,k
if (mod(n,i)==0) exit
end do
if (i>k) then
prime=.true.
else
prime=.false.
end if
end function

program ex112
implicit none
external prime
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integer::n,i,a(4),sum
logical prime
do n=1000,9999
sum=0
doi=1,4
a(5-i)=mod(n/10**(i-1),10)
end do
doi=1,4
sum=sum-+al(i)
end do
if (orime(n).and.mod(sum,2)/=2) print*,n
end do
end
function prime(n)
implicit none
integer ik,n
logical prime
k=sqrt(real(n))
doi=2,k
if (mod(n,i)==0) exit
end do
if (i>k) then
prime=.true.
else
prime=.false.
end if
end function

3R 3~39 ZIi 2 FHIRMISARE: BHE AR BoAME—4NK 2, H=A4
LSS AR 4o fan i 2 o AF B I A AR SR XM R B 2 /b4
program ex03
implicit none
external prime
integer::m,n=0
logical prime
do m=3,39
if (porime(m).and.prime(m+2).and.prime(m+6)) then
n=n+1
print*,m,m+2,m+6
end if
end do
print*,' 3LE" n, X L) = E
end

function prime(n)
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implicit none
integer i,k,n
logical prime
k=sqgrt(real(n))
doi=2,k
if (mod(n,i)==0) exit
end do
if (i>k) then
prime=.true.
else
prime=.false.
end if
end function

15k 2~10000 Z [AIFTAT 5640 (B B & Z AN BRI 5 2 M55 B S %80

program ex14

implicit none

integer::m,i,sum,n=0

do m=2,10000
sum=0
doi=1,m-1 IfxH &2 4

if (mod(m,i)==0) sum=sum-+i

end do
if (sum==m) then

print 100,m
n=n+1
if (mod(n,5)==0) print* 44 5 MNEHRIT
end if
end do
100 format(1X,I5\)

End

I3k 2~10000 Z [A T (R R KL (4n: 52 = 25,252 = 625)
program ex15
implicit none
integer::m,tmp1,tmp2,n=0
print*,'2-10000 . [H] [ T A [RIRA 2!
do m=2,10000
tmpl=m
tmp2=m**2
do while(mod(tmp1,10)==mod(tmp2,10).and.tmp1/=0)
tmpl=tmp1/10
tmp2=tmp2/10
end do
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if (tmp1==0) then
print 100,m
n=n+1
if (mod(n,5)==0) print*
end if
end do
print*
100 format(1X,14\)
End

DRAKALAERL (41153 = 13 + 53 +33)
program ex36
implicit none
integer::m,m1,m2,m3,n=0
do m=100,999
ml=mod(m,10)
m2=mod(m/10,10)
m3=mod(m/100,10) 15%: m3=m/100
if (M1**3+m2**3+m3**3)==m) then
print 100,m
n=n+1
if (mod(n,5)==0) print*
end if
end do
100 format(1X,13\)
End

VIR ER) ) sinx dx

program ex10
implicit none
integer i,n
real::a,b,h,f,si,s=0
print*,"# AR 4> E R
read*,a,b
print*, 4 N\ 7 #1150
read*,n
h=(b-a)/n
doi=1,n
f=sin(a+(i-1)*h)
si=f*h
S=s+Si
end do
print*, R 745 R s

13



end

VB ESRER) ) sinx dx

program ex31

implicit none

real::a,b,h,si,f1,f2,s=0

integer i,n

print*, s AT 7 F R

read*,a,b

print* iy A\ 73 HI %

read*,n

h=(b-a)/n

doi=1,n
fl=sin(a+(i-1)*h)
f2=sin(a+i*h)
si=(f1+f2)*h/2
S=S+si

end do

print*, €45 R s

end

I3k Fibonacci %%
program ex12
implicit none
integer f1,f2,f,i,n
print*,'input n:'
read*,n
f1=1;f2=1
print 100,f1,f2
doi=3,n
f=f1+f2
print 200,f
f1=f2
f2=f
if(mod(i,5)==0) print*
end do
100 format(1X,15,1X,I5\)
200 format(1X,15\)
End
A A ST
program ex54
implicit none
integer,parameter::n=40



integer f(n),i

f(1)=1

f(2)=1

doi=3,n

f(i)=f(i-2)+f(i-1)

end do

print 100,(f(i),i=1,n)
100 format(1X,5110)
end

13K Fibonacci #41] KT 4000 )5z /N J2 5000 2 A 54
program ex04
implicit none
integer::f,f1,f2,i,n=2
fl=1
f2=1
do while(f2<5000)
f=f1+f2
f1=f2
f2=f
n=n+1
if (f1<4000.and.f2>4000) print*,'" kT 4000 [¥)#x/MA ' f1
end do
print*,'5000 Z P FIIEL: n
end

U KA LB N A H CRREERE BRIV
program ex16
implicit none
integer m,n,r,tmpl,tmp2,t
print*,'input two integers:'
read*,m,n
if (m<n) then
t=m
m=n
n=t
end if
tmpl=m
tmp2=n
r=mod(tmp1,tmp2)
do while(r/=0)
tmpl=tmp?2
tmp2=r
r=mod(tmp1,tmp2)
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end do

print*,'GCD:',tmp2

print*,'LCM:',m*n/tmp2
end

DULIRER TS =
program ex17
implicit none
integeri,j,t
doi=1,9
doj=1,i
t=i*j
print 100,t
end do
print*
end do
100 format(1X,I5\)
End

| ZAMERIRx® — 5x% + 16x — 80 = 0, i \ 1 AR HE FL AR P ]

program ex39
implicit none
external f
real x0,x1,x2,f
do
print*,'input x1,x2:'
read*,x1,x2
if (f(x1)*f(x2)<0) exit
end do
do
x0=(x1+x2)/2
if (f(x0)*f(x1)>0) then
x1=x0
else
x2=x0
end if
if (abs(f(x0))<1e-6) exit
end do
print*,'the result:',x0
end
function f(x)
implicit none
real x,f
f=x**3-5*x**2+16*x-80

16



end function

1524805, Ka® — 5x% + 16x — 80 = 0 IR, HFX,

program ex83
implicit none
external f
real x1,x2,f,x0
do
print*,'input x1,x2:"'
read*,x1,x2
if (f(x1)*f(x2)<0) exit
end do
do
x0=(x1*f(x2)-x2*f(x1))/(f(x2)-f(x1))
if (f(x0)*f(x1)>0) then
x1=x0
else
x2=x0
end if
if (abs(f(x0))<1e-6) exit
end do
print*,'the result:',x0
end
function f(x)
implicit none
real x,f
f=x**3-5*x**2+16*x-80
end function

input x1.x2:
2.6

the result: 5 .888080808
Press any key to continue

VR RARX® — 522 + 16x — 80 = 0
program ex20
implicit none
external f,g lg(x)7& f(x)HFER%L
real xr,xtry,f,g
print*,'input xtry:'
read* xtry
do
xr=xtry-f(xtry)/g(xtry)
if(abs(f(xr))<1e-6) exit
Xtry=xr

_x1f(x2)—x2f(x1)

f(x2)—f(x1)

17



end do
print*,'result:',xr
end
function f(x)
implicit none
real f,x
f=x**3-5*x**2+16*x-80
end function
function g(x)
implicit none
real g,x
g=3*x**2-10*x+16
end function

URAEFERAT U3 IME . R S/ ME
program ex23
implicit none
integer,parameter::m=3,n=4
integer i,
real sum,aver,max,min,a(m,n)
print*, i N L4
read*,((a(i,j),j=1,n),i=1,m)
doi=1,m
sum=0
max=a(i,1)
min=a(i,1)
doj=1,n
sum=sum-+al(i,j)
if (a(i,j)>max) max=a(i,j)
if (a(i,j)<min) min=a(i,j)
end do
aver=sum/n
print 100,i,max,min,aver
end do

100 format(1X,'55",12,'17",2X, "B NAE ' F5.1,2X, Bt /ME ' F5.2,2X, “F-31H " F5.2)

End

I PP 7 44

program ex26
implicit none
integer,parameter::n=10
integer::a(n),i,index,flag=0
print*,'input numbers:'
read*,(a(i),i=1,n)

18



print*,'input index:'
read*,index
doi=1,n
if (a(i)==index) then
flag=1
print 100,index, i
end if
end do
if (flag==0) print*,'not found!'
100 format(1X,15,'is No.',I5)
End

Wk Ak
program ex27
implicit none
integer,parameter::n=10
integer::a(n),index,top=1,bottom=10,mid, i
logical::found=.false.
print*,'enter the numbers:'
read*,(a(i),i=1,n)
print*,'input index:'
read*,index
do while(top<=bottom.and.found==.false.)
mid=(top+bottom),/2
if (index<a(mid)) then
bottom=mid-1
else if (index>a(mid)) then
top=mid+1
else
found=.true.
print 100,index,mid
end if
end do
if (.not.found) print*,'not found!'
100 format(1X,15,'is located at No.',I5)
End

=AM N B HER?
program ex66
implicit none
external swap
integer a,b,c
print*,'input three numbers:'
read*,a,b,c

19



if (a>b) call swap(a,b)
if (a>c) call swap(a,c)
if (b>c) call swap(b,c)
print*,'the result:',a,b,c
end
subroutine swap(x,y)
implicit none
integer x,y,t
t=x
x=y
y=t
end subroutine

LR MR BN
program ex77
implicit none
external sort
integer,parameter::n=10
integer i
real a(n)
print*,'input numbers:'
read*,(a(i),i=1,n)
call sort(a,n)
print*,'the sorted array:'
print*,(a(i),i=1,n)
end

subroutine sort(a,n)
implicit none
integer i,j,k,n
real a(n),t
doi=1,n-1
k=i
do j=i+1,n
if (a(j)>a(k)) k=j
end do
if (k/=i) then
t=a(k)
a(k)=a(i)
a(i)=t
end if
end do
end subroutine

TRFHRIEA:
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subroutine sort(a,n)
implicit none
integeri,j,n,
real a(n),t
doi=1,n-1
do j=i+1,n
if (a(j)>a(i)) then
t=a(i)
a(i)=a(j)
a(j)=t
end if
end do
end do
end subroutine

VB VAR
program ex44
implicit none
external sort
integer,parameter::n=10
integer i,
real a(n)
print*,'input numbers:'
read*,(a(i),i=1,n)
call sort(a,n)
print*,'the sorted array:'
print*,(a(i),i=1,n)
end
subroutine sort(a,n)
implicit none
integer i,j,n
real a(n),t
do j=1,n-1
doi=1,n-j
if (a(i)<a(i+1)) then
t=a(i)
a(i)=a(i+1)
a(i+1)=t
end if
end do
end do
end subroutine

Fusg
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program ex82
implicit none
external inv
integer,parameter::n=10
integer::a(n),i
print*,'input the array:'
read*,(a(i),i=1,n)
call inv(a,n)
print*,'the inverted array:'
print*,(a(i),i=1,n)
end
subroutine inv(a,n)
implicit none
integer n,ij,
integer a(n),t
doi=1,n/2
j=n+1-i
t=a(i)
a(i)=a(j)
a(j)=t
end do
end subroutine

PRI SC (i RaDar J2[FI5C, AIX 4 K/NED
program ex105
implicit none
character*10 str
integer i,k,left,right
print*,'input the string:'
read*,str
k=len_trim(str)
doi=1,k/2
left=ichar(str(i:i))
right=ichar(str(k+1-i:k+1-i))
if (left/=right.and.abs(left-right)/=32) exit
end do
if (i>k/2) then
print*,'this is a palindrom!'
else
print*,'this is not a palindrom!'
end if
end

1



program ex29
implicit none
integer,parameter::m=4,n=3
integer a(m,n),b(n,m),i,j
print*,'enter the matrix:'
read*,((a(i,j),j=1,n),i=1,m)
doi=1,m
doj=1,n
b(j,i)=a(i,j)
end do
end do
print 100,((b(i,j),j=1,m),i=1,n)
100 format(1X,<m>I5)
End
ANGINB A R RRE X 7 B
program ex40
implicit none
integer,parameter::n=3
integer a(n,n),i,j,t
print*,'enter array a:'
read*,((a(i,j),j=1,n),i=1,n)
doi=1,n

do j=1,i 15% do j=1,i-1

t=a(i,j)
a(i,j)=a(j,i)
a(j,i)=t
end do

end do

print 100,((a(i,j),j=1,n),i=1,n)

100 format(1X,<n>I5)

End

Vit A7 = A
program ex46
implicit none
integer,parameter::n=10
integer a(n,n),i,j
doi=1,n
a(i,1)=1
a(i,i)=1
end do
doi=3,n
do j=2,i-1
a(i,j)=a(i-1,j-1)+a(i-1,j)
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end do
end do
print*,'the Yang Hui Triangular Matrices:'
print 100,((a(i,j),j=1,i),i=1,n)
100 format(1X,<i>I5)
End

P
program ex30
implicit none
integer,parameter::m=3,n=4,p=2
integer a(m,n),b(n,p),c(m,p)
integer i,j,k
print*,'enter array a:'
read*,((a(i,j),j=1,n),i=1,m)
print*,'enter array b:'
read*,((b(i,j),i=1,p),i=1,n)
doi=1,m
doj=1,p
c(i,j)=0
do k=1,n
c(i,j)=c(i,j)+a(i,k)*b(k,j)
end do
end do
end do
print*'the result:’
print 100,((c(i,j),j=1,p),i=1,m)
100 format(1X,<p>I5)
End

Wil CHEH R R BN PP DD
program ex32
implicit none
integer a(100),i,n,insert_num,p
print*,'input n:'
read*,n
print*,'input numbers:'
read*,(a(i),i=1,n)
print*,'enter insert_num:'
read*,insert_num
p=1
do while (insert_num>a(p).and.p<=n)
p=p+l
end do
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doi=n,p,-1
a(i+1)=a(i)
end do
a(p)=insert_num
print*,'the inserted array:'
print*,(a(i),i=1,n+1)
end

IR (T % A 5] A EGEI 25 )
program ex73
implicit none
integer i,n,delete_num,p
integer,allocatable::a(:)
print*,'input n:'
read*,n
allocate(a(n))
print*,'input numbers:'
read*,(a(i),i=1,n)
print*,'input the delete_num:'
read*,delete_num

p=1
do
do while(delete_num/=a(p).and.p<=n)
p=p+1
end do

if (a(p)==delete_num) then
doi=p,n-1
a(i)=a(i+1)
end do
n=n-1
end if
if (p>n) exit
end do
print*,'the deleted array:'
print*,(a(i),i=1,n)
deallocate(a)
end
B
rogram ex107
implicit none
integer::i,n,delete_num,p,count=0
integer,allocatable::a(:)
print*,'input n:'
read*,n
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allocate(a(n))

print*,'input numbers:'
read*,(a(i),i=1,n)

print*,'input the delete_num:'
read*,delete_num

p=1
do
do while(delete_num/=a(p).and.p<=n-count+1)
p=p+1
end do

if (a(p)==delete_num) then
count=count+1
do i=p,n-count
a(i)=a(i+1)
end do
end if
if (p>n-count+1) exit
end do
print*,'the deleted array:'
print*,(a(i),i=1,n-count)
deallocate(a)
end

125 %

program ex106
implicit none
character*50 line
integer::i,j,k,count=0
print*,'input a line:'

read 100,line LA ZIEL FH A % N

i=1
k=len_trim(line)
do
if (line(i:i)/="") then
i=i+1
cycle

else if (line(i:i)=="") then
count=count+1
do j=i,k-count
line(j:j)=line(j+1:j+1)
end do
if (i>=k+1-count) exit
line(k+1-count:k+1-count)=""
end if
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end do
print*,'the compressed line:'
print*,trim(line)
100 format(A)
End
Ejz:
program ex106
implicit none
character*50 line
integer::i,j,k,count=0
print*,'input a line:'
read 100,line
i=1
k=len_trim(line)
do
do while(line(i:i)/="".and.i<=k+1-count)
i=i+1
end do
if (line(i:i)=="") then
count=count+1
do j=i,k-count
line(j:j)=line(j+1:j+1)
end do
end if
if (i>k+1-count) exit
line(k+1-count:k+1-count)=""
end do
print*,'the compressed line:'
print*,trim(line)
100 format(A)
end
input a line:

Love you!?
the compressed line:

ILoveyou?
ress any key to continue

U3 R 1] ) ) R — AN (A SR — )
program ex72

implicit none

integer i,j,p,n

integer,allocatable::a(:)

print*,'input n:'

read*,n

allocate(a(n))



print*,'input numbers:'
read*,(a(i),i=1,n)

i=1  UANBER do FE, DROA do B HITEIA IR EAE — I apmt D258 dy 1

do while(i<=n)
p=i+l
do
do while(a(i)/=a(p).and.p<=n)
p=p+1
end do
if (a(i)==a(p)) then
do j=p,n-1
a(j)=a(j+1)
end do
n=n-1
end if
if (p>n) exit
end do
i=i+1
end do
print*,'the final array:'
print*,(a(i),i=1,n)
deallocate(a)
end
Ejz:
program ex84
implicit none
integer,parameter::n=10
integer::a(n),b(n),i,j,k=1
print*,'input numbers:'
read*,(a(i),i=1,n)
b(1)=a(1)
doi=2,n
do j=1,k
if (a(i)==b(j)) exit
end do
if (a(i)/=b(j)) then
b(k+1)=a(i)
k=k+1
end if
end do
print*,'the final array:'
print*,(b(i),i=1,k)
end
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program ex79
implicit none
integer i,n,k,max
character*20,allocatable::str(:)
print*,'input n:'
read*,n
allocate(str(n))
print*,input the strings:’
read*,(str(i),i=1,n)
max=len_trim(str(1))
doi=1,n
if (len_trim(str(i))>max) then
max=len_trim(str(i))
k=i
end if
end do
print*,'the longest row:',str(k)
deallocate(str)
end

\GETHREAL AR N 38 S S T o B A
program ex94
implicit none
type person
character*20,name
integer count
end type person
integer,parameter::n=10
integer i,j,k

type(person)::leader(5)=(/person('Li',0),person('Yang',0),person('Zhang',0),person('Ren',0),person
('wu',0)/),t
character*20 leader_name
doi=1,n
read*,leader_name
do j=1,5
if (leader_name==leader(j).name) leader(j).count=leader(j).count+1
end do
end do
doi=1,4
k=i
do j=i+1,5

if (leader(j).count>leader(k).count) k=j
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end do
if (k/=i) then
t=leader(i)
leader(i)=leader(k)
leader(k)=t
end if
end do
print*,'the result:'
print 100, (leader(i).name,leader(i).count,1.0*leader(i).count/n*100,i=1,5)
100 format(1X,A5,"',13,",',F4.1,'%')

End
g B T 7Pl Fortran
A1001 98 96 90 91
A1002 56 50 58 45
A1003 90 72 82 92

H data 1A 58 T I EE 29 0l R AE 25 202 num 1 score, 223K
1. i G R A7 2] source.txt U
2. i RS AR S UG ORAF ) max.txt SCA
3. IHERALA AR S, Bt AN SO S AR B SR 4 T TR RGOSR A B N
#
4, 1R EARHERE, L AR IR RAE S avertxt SCAFH
5. M source.txt SCAFHELHUT A 2 AR I EHE R 4R 2 5 A Fortran S, IRAFF
fortran.txt (/4
program ex108
implicit none
external sort
integer,parameter::n=3
character*5 num(n)
integer::i,j,score(n,4),max,row=1,sum,count=0,aver(n)
data num/'A1001','A1002','A1003'/
data score/98,56,90,96,50,72,90,58,82,91,45,92/ Ergikedii

print*, ZHE I R GK:

print*,'225 (2% HiE Y Fortran'

print '(1X,A5,415)",(num(i),(score(i,j),i=1,4),i=1,n)
open(10,file='souce.txt')

write(10,'(1X,A5,415)') (num(i),(score(i,j),j=1,4),i=1,n)
print*

print*,' &R 7 E A I T K s
e RS

open(20,file="max.txt")

print*,
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doj=1,4
max=score(1,j)
doi=2,n
if (score(i,j)>max) then
max=score(i,j)
row=i
end if
end do
print '(1X,A5,15)',num(row),max
write(20,'(1X,A5,15)') num(row),max
end do
close(20)
print*

print*, V#5078 Job 2 0555 2 U1 TR
print*,'2% 5 F%¢ Juil W) Fortran “F3443
doi=1,n
sum=0
doj=1,4
sum=sum-+score(i,j)
end do
aver(i)=sum/4
if (aver(i)<60) then
count=count+1
print '(1X,A5,515)',num(i),(score(i,j),j=1,4),aver(i)
end if
end do
print*,'3LH", count,' N2 AE A MK
print*

call sort(aver,num,n)

print*, -1 34 70 M e BMRHEFP Ja 1 - A s
print '(1X,A5,15)',(num(i),aver(i),i=1,n)
open(30,file="aver.txt')

write(30,'(1X,A5,15)') (num(i),aver(i),i=1,n)
close(30)

print*

rewind(10)

open(40,file='fortran.txt')

print*, % H BT 242 2E /) Fortran 45"
read(10,'(1X,A5,415)') (num(i),(score(i,j),j=1,4),i=1,n)
print*,'%"5  Fortran'

print '(1X,A5,15)",(num(i),score(i,4),i=1,n)
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write(40,'(1X,A5,15)') (num(i),score(i,4),i=1,n)

close(40)
close(10)
end

subroutine sort(a,num,n)
implicit none
integer i,j,k,n
integer a(n),t
character*5 num(n),p
doi=1,n-1
k=i
do j=i+1,n
if (a(j)>a(k)) k=j
end do
if (i/=k) then
t=a(i)
a(i)=a(k)
a(k)=t
p=num(i)
num(i)=num(k)
num(k)=p
end if
end do
end subroutine
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